14. 7138 (=)

I+
K
o
)
™
—
I+
(@]
=3
Wk
ojo
ro
31
~

Q1 AF0]| CHol 27Hol =AMl

A

& A=

@ EX1E ME

2 G A

=871

(@713)

=8/l

ABL,
INE=DNDN|

SH-SPC

N
7

Q2 YL T2 OfFA| TAEILLR?

g

TFE9 AU Knowledge-Based E0|zt

SLICE 7190

2= AKX =2 7Y HEHE 2 S= Soll A

oXx2
=So=

ot

0]Q.



14. 7138 (=)

E20] o A ElLte?

ol
=

Q3+

|

X
o

H|2rot= HEH

=2
=

LIC} H3= =2 A2 1E9| Deal

ACHE = A FE2HE

=
=

0|2|0| = Upside

Q4 il 2ol j

off 7I&=0] 0SS sflA0tHLE 8

o

xpAH0] REBIILE, HFTEO

Off A LiEtL= EO]2t Of

Ot 24 27t =

=

2EEt

o

of

Ol
M

0] 7tX|2

(o]
(=]

LICE H|=2t LEEERE 2F 7]

=
=

FZ0|
0| =h2t Deal2

M
o

te A8 0lA

LA =42, ofof

I.

o

L
10

d
o0

1

I.

THOHCH S

F

ol

=

K

(o)

KU
X0

..I

9|

I.

=<
i

Xf

L=, 7]

Cr2t

A/

g 0N D 2SS =1A H

=
[

ot g&8+20 =0

ol

b

ok

ojn

o

~
o



